4,4 %



0,4



20.05.2004

621.372

, , –





$$\operatorname{diag}\{p(t)\} = [u(t)][i(t)];$$

$$[u(t)] = \operatorname{diag}\left\{\frac{1}{2}\left(\dot{U}_{m\rho}e^{j\omega t} + \overset{*}{U}_{m\rho}e^{-j\omega t}\right)\right\};$$

$$[i(t)] = \operatorname{diag}\left\{\frac{1}{2}\left(\dot{I}_{m\rho}e^{j\omega t} + \overset{*}{I}_{m\rho}e^{-j\omega t}\right)\right\}; \ \rho = \overline{1,n}; \ \dot{U}_{m\rho} \quad \dot{I}_{m\rho} - \rho - [\mathbf{G}]; * - \rho - \mathbf{G},$$

$$\dot{U}_{\mu\nu} \quad \dot{L}_{\mu\nu}$$

$$diag\{p(t)\} = \frac{1}{2} diag\{\dot{U}_{\rho}\dot{I}_{\rho}e^{j2\omega t} + \dot{U}_{\rho}\dot{I}_{\rho}e^{-j2\omega t} + \dot{U}_{\rho}\dot{I}_{\rho} + \dot{I}_{\rho}\dot{U}_{\rho}\}.$$
(
)
,
[G],
$$P = \frac{1}{2}\left([\overset{*}{\mathbf{U}}][\dot{\mathbf{I}}] + [\overset{*}{\mathbf{I}}][\dot{\mathbf{U}}]\right).$$
(1)
. 2
,
[\dot{\mathbf{I}}] = [G][\dot{\mathbf{U}}];

 $[\mathring{\mathbf{I}}] = [\mathring{\mathbf{U}}][\mathbf{G}]; [\mathring{\mathbf{G}}] = [\mathbf{G}].$, (1),

$$P = \begin{bmatrix} \mathbf{\check{U}} \end{bmatrix} \begin{bmatrix} \mathbf{G} \end{bmatrix} \begin{bmatrix} \mathbf{\dot{U}} \end{bmatrix}.$$
(2)

$$s = j\omega$$
, :

$$[\dot{\mathbf{I}}_{1}] = [\mathbf{Y}][\dot{\mathbf{U}}]; [\dot{\mathbf{I}}] = [\dot{\mathbf{I}}_{0}] + [\mathbf{k}\dot{\mathbf{U}}] - [\dot{\mathbf{I}}_{1}]$$

, [G]:

$$P = [\mathring{\mathbf{I}}_{0}]([\mathbf{G}] + [\mathring{\mathbf{Y}}] - [\mathring{\mathbf{k}}])^{-1}[\mathbf{G}]([\mathbf{G}] + [\mathbf{Y}] - [\mathbf{k}])^{-1}[\mathring{\mathbf{I}}_{0}]. \quad (3)$$

$$[\mathbf{Y}] - [\mathbf{k}] = [\mathbf{Y}]', \quad -$$

$$(\mathbf{i}_{0}] \quad (3) \quad -$$

$$:$$

$$(\mathbf{y})^{-1} \quad (\mathbf{y})^{-1}$$

$$\left[\mathbf{Y}_{m}\right]^{-1} = \left(\left[\mathbf{G}\right] + \left[\mathbf{\hat{Y}}\right]^{2}\right)^{-1} \left[\mathbf{G}\right] \left(\left[\mathbf{G}\right] + \left[\mathbf{Y}\right]^{2}\right)^{-1}.$$
 (4)

. (4)
$$[\mathbf{Y}_m]^{-1}$$

(2). $[\mathbf{Y}_m]$

23

-

-

:

$$[\mathbf{Y}_{m}] = [\mathbf{Y}]' + [\mathbf{Y}]' + [\mathbf{G}] + [\mathbf{Y}]'[\mathbf{G}]^{-1}[\mathbf{Y}]'.$$
(5)

[G].

_

$$[\mathbf{F}(\mathbf{G},\mathbf{k})] = [\mathbf{G}] + [\mathbf{Y}]'[\mathbf{G}]^{-1}[\mathbf{Y}]'.$$
(6)

P (3))

$$\begin{vmatrix} \mathbf{i} \\ \mathbf{I}_{0} \end{bmatrix} \begin{bmatrix} \mathbf{Y}_{m} \end{bmatrix}^{-1} [\dot{\mathbf{I}}_{0}] \le \begin{vmatrix} \mathbf{i} \\ \mathbf{I}_{0} \end{bmatrix} (\begin{bmatrix} \mathbf{Y} \end{bmatrix}' + \begin{bmatrix} \mathbf{Y} \end{bmatrix}') [\dot{\mathbf{I}}_{0}] + \begin{vmatrix} \mathbf{i} \\ \mathbf{I}_{0} \end{bmatrix} \begin{bmatrix} \mathbf{F}(\mathbf{G}, \mathbf{k}) \end{bmatrix} [\dot{\mathbf{I}}_{0}] \end{vmatrix},$$

$$\begin{vmatrix} \mathbf{i} \\ \mathbf{I}_{0} \end{bmatrix} \begin{bmatrix} \mathbf{F}(\mathbf{G}, \mathbf{k}) \end{bmatrix} [\dot{\mathbf{I}}_{0}] = \begin{vmatrix} \mathbf{i} \\ \mathbf{I}_{0} \end{bmatrix} (\begin{bmatrix} \mathbf{G} \end{bmatrix} + \begin{bmatrix} \mathbf{Y} \end{bmatrix}' \begin{bmatrix} \mathbf{G} \end{bmatrix}^{-1} \begin{bmatrix} \mathbf{Y} \end{bmatrix}') [\dot{\mathbf{I}}_{0}] \end{vmatrix}.$$
(7)

(6):

. $[\mathbf{Y}_{m}]^{-1}$ $[\dot{\mathbf{I}}_0] \neq [\mathbf{0}]; \ [\mathbf{Y}]' = [\mathbf{Y}] - [\mathbf{k}],$ $[\mathbf{k}] = \text{const}$ $[\mathbf{G}] = \text{var}$

$$P_{\max} = \sup_{[\mathbf{Y}_m]^{-1}} ([\mathbf{I}_0][\mathbf{Y}_m]^{-1}[\dot{\mathbf{I}}_0])$$

•

$$[\mathbf{Y}_{m}] = [\mathbf{Y}]' + [\mathbf{Y}]' + 2[\mathbf{G}]; \quad [\mathbf{G}] = \operatorname{diag}\{\lambda_{1}, \lambda_{2}, \dots, \lambda_{n}\}^{\frac{1}{2}};$$

$$\overline{\mathbf{N}} - \mathbf{[\mathbf{Y}]'[\mathbf{Y}]'}.$$

 $\lambda_i, i = \overline{1,}$

,

$$\begin{split} & \left(\begin{bmatrix} \mathbf{I}_{0} \\ [\mathbf{I}_{0}] \\ [\mathbf{Y}_{m}]^{-1} \\ [\mathbf{I}_{0}] \\ [\mathbf{I$$

$$\inf_{[\mathbf{F}]} \| [\mathbf{I}_{0}]([\mathbf{Y}]' + [\mathbf{Y}]')[\dot{\mathbf{I}}_{0}] | \leq \inf_{[\mathbf{F}]} \| [\mathbf{I}_{0}][\mathbf{Y}_{m}][\dot{\mathbf{I}}_{0}] | \leq \inf_{[\mathbf{F}]} \| [\mathbf{I}_{0}]([\mathbf{Y}]' + [\mathbf{Y}]')[\dot{\mathbf{I}}_{0}] \| + \| [\mathbf{I}_{0}][\mathbf{F}(\mathbf{G}, \mathbf{k})][\dot{\mathbf{I}}_{0}] \| \}.$$
(7)

$$(,):$$

$$\left\| [\mathbf{G}] \right\|^{2} = \left\| [\mathbf{Y}] [\mathbf{Y}]' \right\| \ge 0, \qquad (8)$$

,

 $[\mathbf{G}] = \operatorname{diag}\{\lambda_1, \lambda_2, \ldots, \lambda_n\}^{\frac{1}{2}}.$

$$\lambda_i, i = \overline{\mathbf{1}, n} - [\mathbf{Y}]' [\mathbf{Y}]'$$
(5)
(7)

 $P_{\rm max}$ (8) $[\dot{\mathbf{I}}_{0}]$)[G] / ([**k**]

 $[\mathbf{Y}_0] - [\mathbf{k}] = [\mathbf{Y}], \qquad [\mathbf{Y}_0] - 2.$ -[**k**] , [**G**], ,

$$[\mathbf{Y}]' \sum_{(i)}^{(5).} |\lambda_i| = \sum_{(i)} |\mu_i|^2$$
$$\mu_i, i = \overline{1, n} \qquad [\mathbf{Y}]'.$$

Chua [7], . .)

,

:

.

$$\Phi(G) = \begin{vmatrix} * \\ \mathbf{I}_0 \end{bmatrix} [\mathbf{F}(\mathbf{G}, \mathbf{k})] [\dot{\mathbf{I}}_0], \quad G \in \mathbb{R}^n,$$

:

$$f(G) = \sum_{j=1}^{n} G_j \ge 0; \ G_j \ge 0; \ f(G) \in \mathbb{R}^n.$$

$$\overline{G}(G) = \Phi(G) + \sum_{j=1}^{n} \int_{0}^{f_j(G)} g_j(u) du ,$$

_

_

$$G = [G_1, G_2, \dots, G_n]^t, \quad g_j(G) \qquad g_j(G) = \begin{cases} 0 & u > 0; \\ \frac{u}{R} & u \le 0. \end{cases}$$



$$(. 3)$$

$$(C_i \frac{dG_i}{dt} = \alpha_i(G) + \sum_{j=1}^n i_j \beta_{ji}(G) = \alpha_i(G) + i_i(G),$$

):

 $: i_i(G) = g_i(f_i(G)) = g_i(G_i); \ \alpha_i(G) = -\frac{\partial \Phi(G)}{\partial G_i}; \ \beta_{ji}(G) = -\frac{\partial f_j(G)}{\partial G_i} = \begin{cases} -1, & i = j; \\ 0, & i \neq j. \end{cases}$

1.

$$[\mathbf{Y}] = \begin{bmatrix} 2 & 0 \\ 0 & j \end{bmatrix}; \ j = \sqrt{-1},$$

$$[\mathbf{k}] = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}; \ j = \sqrt{-1},$$

$$[\mathbf{Y}]' = [\mathbf{Y}] - [\mathbf{k}] = \begin{bmatrix} 1 & 0 \\ 0 & j-1 \end{bmatrix}; \ [\mathbf{Y}]' = \begin{bmatrix} 1 & 0 \\ 0 & -j-1 \end{bmatrix}; \ [\mathbf{Y}]'[\mathbf{Y}]' = \begin{bmatrix} 1 & 0 \\ 0 & 2 \end{bmatrix}.$$

$$\lambda_1 = 1 \quad \lambda_2 = 2, \quad -$$
(8):

$$[\mathbf{G}] = \begin{bmatrix} 1 & 0 \\ 0 & \sqrt{2} \end{bmatrix}; \ [\mathbf{Y}_m] = [\mathbf{Y}]' + [\mathbf{Y}]' + 2[\mathbf{G}] = \begin{bmatrix} 4 & 0 \\ 0 & -2 + 2\sqrt{2} \end{bmatrix}.$$

$$P_{\max} : P_{\max} :$$

$$P_{\max} \leq [\mathbf{I}_{0}] \begin{bmatrix} 1/4 & 0 \\ 0 & \frac{1}{2(\sqrt{2}-1)} \end{bmatrix} [\mathbf{I}_{0}]_{[\mathbf{I}_{0}][\mathbf{I}_{0}]=1}^{*} = 0,75 + 0,5\sqrt{2} \quad ().$$

 $\lambda_2 = 505,84$; [G] = diag{2,963; 22,49}, $P_{\rm max} \leq 21,3$. : $[G] = diag\{1,833; 20,361\}; P_{max} = 6,778$ «Mathcad 2001», . . • . [Y]′ , $\left\| \left[\mathbf{Y} \ \right] \right\|_{2}^{2} \geq \sum_{i=1}^{n} \left| \lambda_{i} \right|^{2}$ [1]. [**G**] 1. 2. » // 1. . - 1969. - . 57, 7. - . 186-187.
 2. D e s o e r C. A. The Maximum Power transfer theorem for n-ports // IEEE Trans. on Circ. Theory. - 1973. - Vol. CT-20. - P. 328-330. 3. V i d y a s a g a r M. Maximum power transfer in n-ports with passive loads // IEEE Trans. on Circ. α Syst. - 1974. - Vol. CAS-21. - P. 327-330. . – 1976. – . 64, // 4. 1. - . 114–115. 5. M a d h u S. Linear Circuit Analysis, Prentice Hall Int. Edition. - N. J. 07632. - 833 p. 6. ., . 655 . 7. C h u a L. O., K e n n e d y M. P. Neural networks for nonlinear programming // IEEE Trans. Circ. Syst. - 1988. - Vol. 35. - P. 554-582.

15.04.2005